EUROPEAN JOURNAL OF PURE AND APPLIED MATHEMATICS
Vol. 10, No. 2, 2017, 238-254
ISSN 1307-5543 - www.ejpam.com
Published by New York Business Global


# The $\left(C L R_{g}\right)$-property for coincidence point theorems and Fredholm integral equations in modular metric spaces 

Phumin Sumalai ${ }^{1}$, Poom Kumam ${ }^{1,2,5, *}$, Y. J. Cho ${ }^{3,4}$, Anantachai Padcharoen ${ }^{1,2}$<br>${ }^{1}$ KMUTT-Fixed Point Research Laboratory, Department of Mathematics, Fixed Point Laboratory, Faculty of Science, King Mongkut's University of Technology Thonburi (KMUTT), Thrung Khru, Bangkok, Thailand<br>${ }^{2}$ KMUTT-Fixed Point Theory and Applications Research Group (KMUTT-FPTA), Theoretical and Computational Science Center (TaCS), Faculty of Science, King Mongkut's University of Technology Thonburi (KMUTT), Bangkok, Thailand<br>${ }^{3}$ Department of Mathematics Education and the RINS, Gyeongsang National University, Chinju, Korea<br>${ }^{4}$ Center for General Education, China Medical University, Taichung, Taiwan<br>${ }^{5}$ Department of Medical Research, China Medical University Hospital, China Medical University, Taichung, Taiwan


#### Abstract

In paper, we prove some common fixed point theorems for the pair of self-mappings with the $g$-quasi-condition in modular metric spaces. Also, we modify and prove some common fixed point theorems by using the ( $C L R_{g}$ )-property along with the weakly compatible mapping. Finally, we give some applications on integral equations to illustrate our main results.


2010 Mathematics Subject Classifications: $47 \mathrm{H} 09,47 \mathrm{H} 10,54 \mathrm{H} 25,37 \mathrm{C} 25$.
Key Words and Phrases: Coincidence point, fixed point, $g$-quasi-condition, $\left(C L R_{g}\right)$-property, modular metric space.

## 1. Introduction

In 1998, Jungck and Rhoades [1] introduced the notion of weakly compatible mappings as follows:

Let $X$ be a nonempty set. Two mappings $f, g: X \rightarrow X$ are said to be weakly compatible if $f x=g x$ implies $f g x=g f x$ for any $x \in X$.

In 2011, Sintunavarat and Kumam [4] introduced a new relax condition is called the $\left(C L R_{g}\right)$-property as follows:

* Corresponding author.

Email addresses: phumin.su28@mail.kmutt.ac.th (P. Sumalai), poom.kum@kmutt.ac.th (P. Kumam), yjcho@gnu.ac.kr (Y. J. Cho), apadcharoen@yahoo.com (A. Padcharoen)

Suppose that $(X, d)$ is a metric space and $f, g: X \rightarrow X$ be two mappings. The mappings $f$ and $g$ are said to satisfy the common limit in the range of $g$ (shortly, $\left(C L R_{g}\right)$ property) if there exists a sequence $\left\{x_{n}\right\}$ in $X$ such that

$$
\lim _{n \rightarrow \infty} f x_{n}=\lim _{n \rightarrow \infty} g x_{n}=g x
$$

for some $x \in X$. The importance of $\left(C L R_{g}\right)$-property ensures that one does not require the closeness of range subspaces

On the other hand, in 2010, Chistyakov [2] introduced the notion of a modular metric space which is a new generalization of a metric space. In the same way, Mongkolkeha et al. [3] proved the existence of fixed point theorems for contraction mappings as following:

Let $\omega$ be a metric modular on $X$ and $X_{\omega}$ be a modular metric space induced by $\omega$. If $X_{\omega}$ is a complete modular metric space and $T: X_{\omega} \rightarrow X_{\omega}$ be a mapping such there exists $k \in[0,1)$ with

$$
\omega_{\lambda}(T x, T y) \leq k \omega_{\lambda}(x, y)
$$

for all $x, y \in X_{\omega}$ and $\lambda>0$, then $T$ has a unique fixed point in $X_{\omega}$.
Currently Aydi et al. [5] established some coincidence and common fixed point results for three self-mappings on a partially ordered cone metric space satisfying a contractive condition and proved an existence theorem of a common solution of integral equations. In the same way, Shatanawi et al.[6] studied some new real generalizations on coincidence points for weakly decreasing mappings satisfying a weakly contractive condition in an ordered metric space. Many author studies in modular metric spaces $[11,12,13,14,15$, $16,17]$.

In this paper, we study and prove the existence of some coincidence point theorems for generalized contraction mappings in modular metric spaces and give some applications on integral equations for our main results.

## 2. Preliminaries

In this section, we give some definitions and their properties for our main results.
Definition 1. [7] Let $(X, d)$ be a metric space. Two mappings $f: X \rightarrow X$ and $g: X \rightarrow X$ are said to satisfy the (E.A)-property if there exist a sequences $\left\{x_{n}\right\}$ in $X$ such that

$$
\lim _{n \rightarrow \infty} f x_{n}=\lim _{n \rightarrow \infty} g x_{n}=t
$$

for some $t \in X$.
Next, we introduce the notion of a modular metric space as follows:
Definition 2. Let $X$ be a linear space over $\mathbb{R}$ with $\theta \in X$ as its zero element. A functional $\rho: X \rightarrow[0,+\infty]$ is called a modular on $X$ if, for all $x, y, z \in X$, the following conditions hold:
(M1) $\rho(x)=0$ if and only if $x=\theta$;
P. Sumalai, P. Kumam, Y. J. Cho, A. Padcharoen / Eur. J. Pure Appl. Math, 10 (2) (2017), 238-254 240
(M2) $\rho(x)=\rho(-x)$;
(M3) $\rho(\alpha x+\beta y) \leq \rho(x)+\rho(y)$ whenever $\alpha, \beta \geq 0$ and $\alpha+\beta=1$.
The linear subspace $X_{\rho}:=\left\{x \in X: \lim _{\lambda \rightarrow \infty} \rho(\lambda x)=0\right\}$ is called a modular space.
Definition 3. [2] Let $X$ be a nonempty set.
(1) A function $\omega:(0, \infty) \times X \times X \rightarrow[0, \infty]$ is called a metric modular on $X$ if, for all $x, y, z \in X$, the following conditions hold:
(MM1) $\omega_{\lambda}(x, y)=0$ for all $\lambda>0$ if and only if $x=y$;
(MM2) $\omega_{\lambda}(x, y)=\omega_{\lambda}(y, x)$ for all $\lambda>0$;
(MM3) $\omega_{\lambda+\mu}(x, y) \leq \omega_{\lambda}(x, z)+\omega_{\mu}(z, y)$ for all $\lambda, \mu>0$.
(2) If, instead of the condition (MM1), we have the following condition:
(MM1') $\omega_{\lambda}(x, x)=0$ for all $\lambda>0$,
then $\omega$ is called a (metric) pseudo-modular on $X$.
Remark 1. A modular $\omega$ on a set $X$, the function $0<\lambda \mapsto \omega_{\lambda}(x, y) \in[0, \infty]$ for all $x, y \in X$, is a non-increasing on $(0, \infty)$. In fact, if $0<\mu<\lambda$, then the conditions (MM3), (MM1') and (MM2) imply

$$
\begin{equation*}
\omega_{\lambda}(x, y) \leq \omega_{\lambda-\mu}(x, x)+\omega_{\mu}(x, y)=\omega_{\mu}(x, y) \tag{1}
\end{equation*}
$$

It follows that, at each point $\lambda>0$, the right limit $\omega_{\lambda+0}(x, y):=\lim _{\epsilon \rightarrow+0} \omega_{\lambda+\epsilon}(x, y)$ and the left limit $\omega_{\lambda-0}(x, y):=\lim _{\varepsilon \rightarrow+0} \omega_{\lambda-\varepsilon}(x, y)$ exist in $[0, \infty]$ and the following two inequalities hold:

$$
\begin{equation*}
\omega_{\lambda+0}(x, y) \leq \omega_{\lambda}(x, y) \leq \omega_{\lambda-0}(x, y) \tag{2}
\end{equation*}
$$

for all $x, y \in X$. We know that, if $x_{0} \in X$, the set $X_{\omega}=\left\{x \in X: \lim _{\lambda \rightarrow \infty} \omega_{\lambda}\left(x, x_{0}\right)=0\right\}$ is a metric space, which is called a modular space, whose metric is given by

$$
d_{\omega}^{0}(x, y)=\inf \left\{\lambda>0: \omega_{\lambda} \lambda(x, y) \leq \lambda\right\}
$$

for all $x, y \in X_{\omega}$. Also, it follows that, if $X$ is a real linear space, $\rho: X \rightarrow[0, \infty]$ and

$$
\omega_{\lambda}(x, y)=\rho\left(\frac{x-y}{\lambda}\right)
$$

for all $\lambda>0$ and $x, y \in X$, then $\rho$ is a modular on $X$ if and only if $\omega$ is a metric modular on $X$ (see [2]).

Example 1. [8] The following indexed objects $\omega$ are simple examples of a modular on a set $X$. Let $\lambda>0$ and $x, y \in X$. Then we have

$$
\begin{aligned}
& \text { (1) } \omega_{\lambda}(x, y)=\infty \text { if } \lambda \leq d(x, y) \text {, and } \omega_{\lambda}(x, y)=0 \text { if } \lambda>d(x, y) \text {; } \\
& \text { (2) } \omega_{\lambda}(x, y)=\infty \text { if } \lambda<d(x, y) \text {, and } \omega_{\lambda}(x, y)=0 \text { if } \lambda \geq d(x, y) \text {. }
\end{aligned}
$$

Definition 4. [3] Let $X_{\omega}$ be a modular metric space.
(1) The sequence $\left\{x_{n}\right\}$ in $X_{\omega}$ is said to be $\omega$-convergent to a point $x \in X_{\omega}$ if $\omega_{\lambda}\left(x_{n}, x\right) \rightarrow$ 0 as $n \rightarrow \infty$ for all $\lambda>0$;
(2) The sequence $\left\{x_{n}\right\}$ in $X_{\omega}$ is called an $\omega$-Cauchy sequence if $\omega_{\lambda}\left(x_{m}, x_{n}\right) \rightarrow 0$ as $m, n \rightarrow \infty$ for all $\lambda>0$;
(3) A subset $C$ of $X_{\omega}$ is said to be $\omega$-closed if the limit of a convergent sequence $\left\{x_{n}\right\}$ of $C$ always belongs to $C$;
(4) A subset $C$ of $X_{\omega}$ is said to be $\omega$-complete if any $\omega$-Cauchy sequence $\left\{x_{n}\right\}$ in $C$ is $\omega$-convergent to a point is in $C$;
(5) A subset $C$ of $X_{\omega}$ is said to be $\omega$-bounded if, for all $\lambda>0, \delta_{\omega}(C)=\sup \left\{\omega_{\lambda}(x, y)\right.$ : $x, y \in C\}<\infty$.

Definition 5. Let $X_{\omega}$ be a modular metric space and $f, g: X \rightarrow X$ be two mappings. The mappings $f$ and $g$ are said to satisfy the common limit in the range of $g$ (shortly, $\left(C L R_{g}\right)$-property) if

$$
\lim _{n \rightarrow \infty} f x_{n}=\lim _{n \rightarrow \infty} g x_{n}=g x
$$

for some $x \in X_{\omega}$.
Definition 6. [9] Let $X_{\omega}$ be a modular metric space. We say that $\omega$ satisfies the $\Delta_{2}$ condition if, for any sequence $\left\{x_{n}\right\} \subset X_{\omega}$ and $x \in X_{w}$, there exists a number $\lambda>0$, possibly depending on $\left\{x_{n}\right\}$ and $x$, such that $\lim _{n \rightarrow \infty} \omega_{\lambda}\left(x_{n}, x\right)=0$ for some $\lambda>0$ implies $\lim _{n \rightarrow \infty} \omega_{\lambda}\left(x_{n}, x\right)=0$ for all $\lambda>0$.

Note that, in this paper, we suppose that $\omega$ is a modular on $X$ and satisfies the $\Delta_{2}$-condition on $X$.

## 3. Fixed point results for the contractive condition

Lemma 1. Let $f$ and $g$ be weakly compatible self-mappings of a set $X_{\omega}$. If $f$ and $g$ have a unique coincidence point, that is, $t=f x=g x$, then $t$ is the common fixed point of $f$ and $g$.

Theorem 1. Let $X_{\omega}$ be a modular metric space and $f, g: X_{\omega} \rightarrow X_{\omega}$ be weakly compatible mappings such that $f\left(X_{\omega}\right) \subset g\left(X_{\omega}\right)$ and $g\left(X_{\omega}\right)$ is a $\omega$-complete subspace of $X_{\omega}$. Suppose there exists number $a \in\left[0, \frac{1}{4}\right.$ ) for all $x, y \in X_{\omega}$ and $\lambda>0$ such that
(a) there exists $x_{0}, x_{1} \in X_{\omega}$ such that $\omega_{\lambda}\left(f x_{0}, g x_{1}\right)<\infty$;
(b) $\omega_{\lambda}(f x, f y) \leq a\left[\omega_{\lambda}(f x, g y)+\omega_{2 \lambda}(f y, g x)+\omega_{\lambda}(f x, g x)+\omega_{\lambda}(f y, g y)\right]$.

Then $f$ and $g$ have a coincidence point.
P. Sumalai, P. Kumam, Y. J. Cho, A. Padcharoen / Eur. J. Pure Appl. Math, 10 (2) (2017), 238-254 242

Proof. Let $x_{0}$ be an arbitrary point in $X_{\omega}$. Since $f\left(X_{\omega}\right) \subset g\left(X_{\omega}\right)$, there exists a sequence $\left\{x_{n}\right\}$ in $X_{\omega}$ such that

$$
g x_{n}=f x_{n-1}
$$

for all $n \geq 1$. Now, setting $x=x_{n}$ and $y=x_{n+1}$ in (b), we have

$$
\begin{aligned}
\omega_{\lambda}\left(f x_{n}, f x_{n+1}\right) & \leq a\left[\omega_{\lambda}\left(f x_{n}, f x_{n}\right)+\omega_{2 \lambda}\left(f x_{n+1}, f x_{n-1}\right)+\omega_{\lambda}\left(g x_{n+1}, g x_{n}\right)+\omega_{\lambda}\left(f x_{n+1}, f x_{n}\right)\right] \\
& =a\left[\omega_{2 \lambda}\left(f x_{n+1}, f x_{n-1}\right)+\omega_{\lambda}\left(g x_{n+1}, g x_{n}\right)+\omega_{\lambda}\left(f x_{n+1}, f x_{n}\right)\right]
\end{aligned}
$$

for all $\lambda>0$. On the other hand, we have

$$
\begin{aligned}
\omega_{2 \lambda}\left(f x_{n+1}, f x_{n-1}\right) & \leq \omega_{\lambda}\left(f x_{n+1}, f x_{n}\right)+\omega_{\lambda}\left(f x_{n}, f x_{n-1}\right) \\
& =\omega_{\lambda}\left(f x_{n+1}, f x_{n}\right)+\omega_{\lambda}\left(g x_{n+1}, g x_{n}\right)
\end{aligned}
$$

and so
$\omega_{\lambda}\left(f x_{n}, f x_{n+1}\right) \leq a\left[\omega_{\lambda}\left(f x_{n+1}, f x_{n}\right)+\omega_{\lambda}\left(g x_{n+1}, g x_{n}\right)+\omega_{\lambda}\left(g x_{n+1}, g x_{n}\right)+\omega_{\lambda}\left(f x_{n+1}, f x_{n}\right)\right]$.
This implies that

$$
\omega_{\lambda}\left(f x_{n}, f x_{n+1}\right) \leq \frac{2 a}{1-2 a} \omega_{\lambda}\left(g x_{n}, g x_{n+1}\right)
$$

for all $n \in \mathbb{N}$, where $\alpha=\frac{2 a}{1-2 a}<1$. By induction, we have

$$
\begin{equation*}
\omega_{\lambda}\left(f x_{n}, f x_{n+1}\right) \leq \alpha^{n} \omega_{\lambda}\left(g x_{0}, g x_{1}\right) \tag{3}
\end{equation*}
$$

for all $n \in \mathbb{N}$. By $(a)$, it follows that $\left\{f x_{n}\right\}$ is a $\omega$-Cauchy sequence. Since $g\left(X_{\omega}\right)$ is $\omega$-complete, there exists $u, v \in X_{\omega}$ such that $u=g(v)$ and $f x_{n} \rightarrow u$ as $n \rightarrow \infty$. Since $\omega$ satisfy the $\Delta_{2}$-condition on $X$, we have $\lim _{n \rightarrow \infty} \omega_{\lambda}\left(f x_{n}, u\right)=0$ for all $\lambda>0$ and hence

$$
\begin{equation*}
\lim _{n \rightarrow \infty} \omega_{\lambda}\left(f x_{n}, u\right)=\lim _{n \rightarrow \infty} \omega_{\lambda}\left(g x_{n}, u\right)=0 \tag{4}
\end{equation*}
$$

for all $\lambda>0$. Letting $x=x_{n}$ and $y=v$ in $(b)$, we have

$$
\begin{aligned}
\omega_{\lambda}\left(f x_{n}, f v\right) & \leq a\left[\omega_{\lambda}\left(f x_{n}, g v\right)+\omega_{2 \lambda}\left(f v, g x_{n}\right)+\omega_{\lambda}\left(f x_{n}, g x_{n}\right)+\omega_{\lambda}(f v, g v)\right] \\
& \leq a\left[\omega_{\lambda}\left(f x_{n}, g v\right)+\omega_{2 \lambda}\left(f v, f x_{n}\right)+\omega_{\lambda}\left(f x_{n}, g x_{n}\right)+\omega_{\lambda}(f v, g v)\right]
\end{aligned}
$$

and, by Remark 1 , since the function $\lambda \mapsto \omega_{\lambda}(x, y)$ is non-increasing, we have

$$
\omega_{\lambda}\left(f x_{n}, f v\right) \leq a\left[\omega_{\lambda}\left(f x_{n}, g v\right)+\omega_{\lambda}\left(f v, f x_{n}\right)+\omega_{\lambda}\left(f x_{n}, g x_{n}\right)+\omega_{\lambda}(f v, g v)\right]
$$

By (b), letting $n \rightarrow \infty$ in the above inequality, we have

$$
\omega_{\lambda}(f v, g v) \leq\left[\omega_{\lambda}(f v, g v)+\omega_{\lambda}(f v, f v)+\omega_{\lambda}(f v, g v)+\omega_{\lambda}(f v, g v)\right] .
$$

Thus $(1-4 k) \omega_{\lambda}(f v, g v) \leq 0$ for all $\lambda>0$ and so

$$
g v=f v=u
$$

which proves that $g$ and $f$ have a coincidence point.
Now, we generalize Theorem 1 by using ( $C L R g$ )-property for weakly compatible mappings as follows:

Theorem 2. Let $X_{\omega}$ be a modular metric space and $f, g: X_{\omega} \rightarrow X_{\omega}$ be weakly compatible mappings such that $f\left(X_{\omega}\right) \subset g\left(X_{\omega}\right)$. Suppose there exists a number $a \in\left[0, \frac{1}{4}\right)$ for all $x, y \in X_{\omega}$ and $\lambda>0$ such that
(a) there exists $x_{0}, x_{1} \in X_{\omega}$ such that $\omega_{\lambda}\left(f x_{0}, g x_{1}\right)<\infty$;
(b) $\omega_{\lambda}(f x, f y) \leq a\left[\omega_{\lambda}(f x, g y)+\omega_{2 \lambda}(f y, g x)+\omega_{\lambda}(f x, g x)+\omega_{\lambda}(f y, g y)\right]$.

If $f$ and $g$ satisfy the $\left(C L R_{g}\right)$-property, then $f$ and $g$ have a unique common fixed point.
Proof. Since $f$ and $g$ satisfy the $\left(C L R_{g}\right)$-property, there exists a sequence $\left\{x_{n}\right\}$ in $X_{\omega}$ such that $\lim _{n \rightarrow \infty} f x_{n}=\lim _{n \longrightarrow \infty} g x_{n}=g x$ for some $x \in X_{\omega}$. From (b), we have

$$
\omega_{\lambda}\left(f x_{n}, f x\right) \leq a\left[\omega_{\lambda}\left(f x_{n}, g x\right)+\omega_{2 \lambda}\left(f x, g x_{n}\right)+\omega_{\lambda}\left(f x_{n}, g x_{n}\right)+\omega_{\lambda}(f x, g x)\right]
$$

for all $n \geq 1$. Letting $n \rightarrow \infty$, we have $g x=f x$. Let $t=f x=g x$. Since $f$ and $g$ are weakly compatible mappings, $f g x=g f x$ implies that $f t=f g x=g f x=g t$.

Now, we claim that $f t=t$. From (b), we have

$$
\begin{aligned}
\omega_{\lambda}(f t, t) & =\omega_{\lambda}(f t, f x) \\
& \leq a\left[\omega_{\lambda}(f t, g x)+\omega_{2 \lambda}(f x, g t)+\omega_{\lambda}(f t, g t)+\omega_{\lambda}(f x, g x)\right] \\
& =a\left[\omega_{\lambda}(f t, g x)+\omega_{2 \lambda}(f x, g t)\right] \\
& =a\left[\omega_{\lambda}(f t, t)+\omega_{2 \lambda}(t, f t)\right]
\end{aligned}
$$

and, by Remark 1, since the function $\lambda \mapsto \omega_{\lambda}(x, y)$ is non-increasing, we have

$$
\omega_{\lambda}(f t, t) \leq a\left[\omega_{\lambda}(f t, t)+\omega_{\lambda}(t, f t)\right]
$$

This implies that $(1-2 a) \omega_{\lambda}(f t, t) \leq 0$ for all $\lambda>0$, that is, $\omega_{\lambda}(f t, t)=0$ and so $f t=t=g t$. Thus $t$ is a common fixed point of $f$ and $g$.

For the uniqueness of the common fixed point, we suppose that $u$ is another common fixed point in $X_{\omega}$ such that $f u=g u$. From (b), we have

$$
\begin{aligned}
\omega_{\lambda}(g u, g t) & =\omega_{\lambda}(f u, f t) \\
& \leq a\left[\omega_{\lambda}(f u, g t)+\omega_{2 \lambda}(f t, g u)+\omega_{\lambda}(f u, g u)+\omega_{\lambda}(f t, g t)\right] \\
& =a\left[\omega_{\lambda}(f u, g t)+\omega_{2 \lambda}(f t, g u)\right] \\
& =a\left[\omega_{\lambda}(g u, g t)+\omega_{2 \lambda}(g t, g u)\right]
\end{aligned}
$$

and, by Remark 1, since the function $\lambda \mapsto \omega_{\lambda}(x, y)$ is non-increasing, we have

$$
\omega_{\lambda}(g u, g t) \leq a\left[\omega_{\lambda}(g u, g t)+\omega_{\lambda}(g t, g u)\right] .
$$

This implies $g u=g t$. Thus, by Lemma 1, we have $f$ and $g$ have a unique common fixed point.

Theorem 3. Let $X_{\omega}$ be a modular metric space and $f, g: X_{\omega} \rightarrow X_{\omega}$ be weakly compatible mappings such that $f\left(X_{\omega}\right) \subset g\left(X_{\omega}\right)$. Suppose that there exist $a_{1}, a_{2}, a_{3}, a_{4}, a_{5} \in\left[0, \frac{1}{4}\right)$ and $\sum_{i=1}^{5} a_{i}<1$ such that, for all $x, y \in X_{\omega}$ and $\lambda>0$,
(a) there exists $x_{0}, x_{1} \in X_{\omega}$ such that $\omega_{\lambda}\left(f x_{0}, g x_{1}\right)<\infty$;
(b) $\omega_{\lambda}(f x, f y) \leq a_{1} \omega_{\lambda}(f x, g x)+a_{2} \omega_{\lambda}(f y, g y)+a_{3} \omega_{\lambda}(f y, g x)+a_{4} \omega_{\lambda}(f x, g y)+a_{5} \omega_{\lambda}(g y, g x)$.

If $f$ and $g$ satisfy $\left(C L R_{g}\right)$-property, then $f$ and $g$ have a unique common fixed point.
Proof. Since $f$ and $g$ satisfy the $\left(C L R_{g}\right)$-property, there exists a sequence $\left\{x_{n}\right\}$ in $X_{\omega}$ such that $\lim _{n \rightarrow \infty} f x_{n}=\lim _{n \longrightarrow \infty} g x_{n}=g x$ for some $x \in X_{\omega}$. From (b), we have

$$
\begin{aligned}
\omega_{\lambda}\left(f x_{n}, f x\right) \leq & a_{1} \omega_{\lambda}\left(f x_{n}, g x_{n}\right)+a_{2} \omega_{\lambda}(f x, g x)+a_{3} \omega_{\lambda}\left(f x, g x_{n}\right) \\
& +a_{4} \omega_{\lambda}\left(f x_{n}, g x\right)+a_{5} \omega_{\lambda}\left(g x, g x_{n}\right)
\end{aligned}
$$

for all $n \geq 1$. By taking the limit $n \rightarrow \infty$, we have

$$
\begin{aligned}
\omega_{\lambda}(g x, f x) \leq & a_{1} \omega_{\lambda}(g x, g x)+a_{2} \omega_{\lambda}(f x, g x)+a_{3} \omega_{\lambda}(f x, g x) \\
& +a_{4} \omega_{\lambda}(g x, g x)+a_{5} \omega_{\lambda}(g x, g x) \\
= & \left(a_{2}+a_{3}\right) \omega_{\lambda}(f x, g x)
\end{aligned}
$$

This implies that $\left(1-a_{2}-a_{3}\right) \omega_{\lambda}(f x, g x) \leq 0$ for all $\lambda>0$, which is a contradiction. Thus $f x=g x$. Now, let $t=f x=g x$. Since $f$ and $g$ are weakly compatible mappings, we have $f g x=g f x$, which implies that $f t=f g x=g f x=g t$.

Now, we show that $g t=t$. Suppose $\omega_{\lambda}(g t, t)>0$. Then, from (b), we have

$$
\begin{aligned}
\omega_{\lambda}(g t, t)= & \omega_{\lambda}(f t, f x) \\
\leq & a_{1} \omega_{\lambda}(f t, g t)+a_{2} \omega_{\lambda}(f x, g x)+a_{3} \omega_{\lambda}(f x, g t) \\
& +a_{4} \omega_{\lambda}(f t, g x)+a_{5} \omega_{\lambda}(g x, g t) \\
\leq & a_{3} \omega_{\lambda}(t, g t)+a_{4} \omega_{\lambda}(g t, t)+a_{5} \omega_{\lambda}(t, g t) \\
= & \left(a_{3}+a_{4}+a_{5}\right) \omega_{\lambda}(g t, t)
\end{aligned}
$$

This implies that $\left(1-a_{3}-a_{4}-a_{5}\right) \omega_{\lambda}(g t, t) \leq 0$ for all $\lambda>0$, which is a contradiction. Thus $t$ is a common fixed point of $f$ and $g$.

For the uniqueness of the common fixed point, we suppose that $u$ is another common fixed point in $X_{\omega}$ such that $f u=g u$. From (b), we have

$$
\begin{aligned}
\omega_{\lambda}(u, t)= & \omega_{\lambda}(g u, g t) \\
= & \omega_{\lambda}(f u, f t) \\
\leq & a_{1} \omega_{\lambda}(f u, g u)+a_{2} \omega_{\lambda}(f t, g t)+a_{3} \omega_{\lambda}(f t, g u) \\
& +a_{4} \omega_{\lambda}(f u, g t)+a_{5} \omega_{\lambda}(g t, g u) \\
\leq & a_{3} \omega_{\lambda}(f t, g u)+a_{4} \omega_{\lambda}(g u, f t)+a_{5} \omega_{\lambda}(f t, g u) \\
= & \left(a_{3}+a_{4}+a_{5}\right) \omega_{\lambda}(u, t)
\end{aligned}
$$

This implies that $\left(1-a_{3}-a_{4}-a_{5}\right) \omega_{\lambda}(u, t) \leq 0$ for all $\lambda>0$, which is a contradiction. Thus $\omega_{\lambda}(u, t)=0$ and so $u=t$. Hence $f$ and $g$ have a unique common fixed point.

By setting $g=I_{X_{\omega}}$, we deduce the following result of fixed point for one self-mapping from Theorem 3.

Corollary 1. Let $X_{\omega}$ be an $\omega$-complete modular metric space and $f: X_{\omega} \rightarrow X_{\omega}$ such that, for all $\lambda>0$ and $x, y \in X_{\omega}, \omega_{\lambda}\left(x_{0}, f x_{0}\right)<\infty$ and

$$
\omega_{\lambda}(f x, f y) \leq a_{1} \omega_{\lambda}(f x, x)+a_{2} \omega_{\lambda}(f y, y)+a_{3} \omega_{\lambda}(f y, x)+a_{4} \omega_{\lambda}(f x, y)+a_{5} \omega_{\lambda}(x, y)
$$

where $a_{1}, a_{2}, a_{3}, a_{4}, a_{5} \in\left[0, \frac{1}{4}\right)$ with $\sum_{i=1}^{5} a_{i}<1$. Then $f$ has a unique fixed point $z$. Further, for any $x_{0} \in X_{\omega}$, the Picard sequence $\left\{f x_{n}\right\}$ with an initial point $x_{0}$ is $\omega$-convergent to the fixed point $z$.

Corollary 2. Let $X_{\omega}$ be an $\omega$-complete modular metric space and $f: X_{\omega} \rightarrow X_{\omega}$ such that, for all $\lambda>0$ and $x, y \in X_{\omega}, \omega_{\lambda}\left(x_{0}, f x_{0}\right)<\infty$ and

$$
\omega_{\lambda}(f x, f y) \leq a_{1} \omega_{\lambda}(f x, x)+a_{2} \omega_{\lambda}(f y, y)+a_{3} \omega_{\lambda}(x, y)
$$

where $a_{1}, a_{2}, a_{3} \in\left[0, \frac{1}{4}\right)$ with $0 \leq a_{1}+a_{2}+a_{3}<1$. Then $f$ has a unique fixed point.
Corollary 3. Let $X_{\omega}$ be an $\omega$-complete modular metric space and $f: X_{\omega} \rightarrow X_{\omega}$ such that, for all $\lambda>0$ and $x, y \in X_{\omega}, \omega_{\lambda}\left(x_{0}, f x_{0}\right)<\infty$ and

$$
\omega_{\lambda}(f x, f y) \leq a \omega_{\lambda}(x, y)
$$

where $0 \leq a<1$. Then $f$ has a unique fixed point.
Now, we give some examples of the $\left(C L R_{g}\right)$-property as follows:
Example 2. Let $X_{\omega}=[0, \infty)$ be a modular metric space. Define two mappings $f, g$ : $X_{\omega} \rightarrow X_{\omega}$ by $f x=x+4$ and $g x=5 x$ for all $x \in X_{\omega}$, respectively. Now, we consider the sequence $\left\{x_{n}\right\}$ defined by $x_{n}=\left\{1+\frac{1}{n}\right\}$ for each $n \geq 1$. Since

$$
\lim _{n \rightarrow \infty} f x_{n}=\lim _{n \rightarrow \infty} g x_{n}=5=g(1) \in X_{\omega},
$$

$f$ and $g$ satisfy the $\left(C L R_{g}\right)$-property.
Example 3. The conclusion of Example 2 remains true if the self-mappings $f$ and $g$ is defined on $X_{\omega}$ by $f(x)=\frac{x}{4}$ and $g(x)=\frac{x}{2}$ for all $x \in X_{\omega}$, respectively. Let a sequence $\left\{x_{n}\right\}$ be defined by $x_{n}=\left\{\frac{1}{n}\right\}$ in $X_{\omega}$. Since

$$
\lim _{n \rightarrow \infty} f x_{n}=\lim _{n \rightarrow \infty} g x_{n}=0=g(0) \in X_{\omega},
$$

$f$ and $g$ satisfy the $\left(C L R_{g}\right)$-property.

## 4. Fixed point results for the strict contractive condition

Definition 7. Let $(X, \omega)$ be a modular metric space and $(f, g)$ be a pair of self-mappings on $X_{\omega}$. For any $x, y \in X_{\omega}$, consider the following sets:

$$
\begin{gathered}
\mathcal{M}_{0}^{f, g}(x, y)=\left\{\omega_{\lambda}(g x, g y), \omega_{\lambda}(g x, f x), \omega_{\lambda}(g y, f y), \omega_{\lambda}(g x, f y), \omega_{\lambda}(g y, f x)\right\} \\
\mathcal{M}_{1}^{f, g}(x, y)=\left\{\omega_{\lambda}(g x, g y), \omega_{\lambda}(g x, f x), \omega_{\lambda}(g y, f y), \frac{\omega_{\lambda}(g x, f y)+\omega_{\lambda}(g y, f x)}{2}\right\} \\
\mathcal{M}_{2}^{f, g}(x, y)=\left\{\omega_{\lambda}(g x, g y), \frac{\omega_{\lambda}(g x, f x)+\omega_{\lambda}(g y, f y)}{2}, \frac{\omega_{\lambda}(g x, f y)+\omega_{\lambda}(g y, f x)}{2}\right\} .
\end{gathered}
$$

and define the following conditions:
(C1) for any $x, y \in X_{\omega}$, there exists $\alpha_{0}(x, y) \in \mathcal{M}_{0}^{f, g}(x, y)$ such that

$$
\omega_{\lambda}(f x, f y)<\alpha_{0}(x, y)
$$

(C2) for any $x, y \in X_{\omega}$, there exists $\alpha_{1}(x, y) \in \mathcal{M}_{1}^{f, g}(x, y)$ such that

$$
\omega_{\lambda}(f x, f y)<\alpha_{1}(x, y)
$$

(C3) for any $x, y \in X_{\omega}$, there exists $\alpha_{2}(x, y) \in \mathcal{M}_{2}^{f, g}(x, y)$ such that

$$
\omega_{\lambda}(f x, f y)<\alpha_{2}(x, y)
$$

These conditions are called the strict contractive conditions.
Definition 8. Let $(X, \omega)$ be a modular metric space. Let $f, g$ be self-mappings on $X_{\omega}$. Then $f$ is called a g-quasi-contraction if, for some constant $a \in(0,1)$, there exists $\alpha(x, y) \in$ $\mathcal{M}_{0}^{f, g}(x, y)$ such that

$$
\omega_{\lambda}(f x, f y) \leq a \alpha(x, y)
$$

for all $x, y \in X_{\omega}$.
Theorem 4. Let $X_{\omega}$ be a modular metric space and $f, g: X_{\omega} \rightarrow X_{\omega}$ are weakly compatible mappings such that $f\left(X_{\omega}\right) \subset g\left(X_{\omega}\right)$ satisfies the condition (C3) for all $x, y \in X_{\omega}$ and $\lambda>0$. If $f$ and $g$ satisfy the $\left(C L R_{g}\right)$-property, then $f$ and $g$ have a unique common fixed point.

Proof. Since $f$ and $g$ satisfy the $\left(C L R_{g}\right)$-property, there exists a sequence $\left\{x_{n}\right\}$ in $X_{\omega}$ such that $\lim _{n \rightarrow \infty} f x_{n}=\lim _{n \longrightarrow \infty} g x_{n}=g x$ for some $x \in X_{\omega}$. From (C3), we have

$$
\omega_{\lambda}\left(f x_{n}, f x\right)<\alpha_{2}\left(x_{n}, x\right)
$$

where $\alpha_{2}\left(x_{n}, x\right) \in \mathcal{M}_{2}^{f, g}\left(x_{n}, x\right)$. Therefore, we have

$$
\mathcal{M}_{2}^{f, g}\left(x_{n}, x\right)=\left\{\omega_{\lambda}\left(g x_{n}, g x\right), \frac{\omega_{\lambda}\left(g x_{n}, f x_{n}\right)+\omega_{\lambda}(g x, f x)}{2}, \frac{\omega_{\lambda}\left(g x_{n}, f x\right)+\omega_{\lambda}\left(g x, f x_{n}\right)}{2}\right\}
$$

Now, we show that $f x=g x$. Suppose that $f x \neq g x$. From (C3), we have the following three cases:

Case 1. $\omega_{\lambda}\left(f x_{n}, f x\right)<\alpha_{2}\left(x_{n}, x\right)$. Taking limit as $n \rightarrow \infty$, we have $\omega_{\lambda}(g x, f x)<$ $\omega_{\lambda}(g x, g x)=0$, which is a contradiction.

Case 2. $\omega_{\lambda}\left(f x_{n}, f x\right)<\frac{\omega_{\lambda}\left(g x_{n}, f x_{n}\right)+\omega_{\lambda}(g x, f x)}{2}$. Taking limit as $n \rightarrow \infty$, we have

$$
\omega_{\lambda}(g x, f x)<\frac{\omega_{\lambda}(g x, g x)+\omega_{\lambda}(g x, f x)}{2}=\frac{1}{2} \omega_{\lambda}(g x, f x),
$$

which is a contradiction.
Case 3. $\omega_{\lambda}\left(f x_{n}, f x\right)<\frac{\omega_{\lambda}\left(g x_{n}, f x\right)+\omega_{\lambda}\left(g x, f x_{n}\right)}{2}$. Taking limit as $n \rightarrow \infty$, we have

$$
\omega_{\lambda}(g x, f x)<\frac{\omega_{\lambda}(g x, f x)+\omega_{\lambda}(g x, g x)}{2}=\frac{1}{2} \omega_{\lambda}(g x, f x)
$$

which is a contradiction. Hence $g x=f x$ in all the cases. Let $t=f x=g x$. Since $f$ and $g$ are weakly compatible mappings, $f g x=g f x$, which implies that $f t=f g x=g f x=g t$.

Now, we show that $f t=t$. Suppose that $f t \neq t$. From (C3), we have

$$
\omega_{\lambda}(f t, t)=\omega_{\lambda}(f t, f x)<\alpha_{2}(t, x)
$$

where $\alpha_{2}(t, x) \in \mathcal{M}_{2}^{f, g}(t, x)$. Therefore, we have

$$
\begin{aligned}
\mathcal{M}_{2}^{f, g}(t, x) & =\left\{\omega_{\lambda}(g t, g x), \frac{\omega_{\lambda}(g t, f t)+\omega_{\lambda}(g x, f x)}{2}, \frac{\omega_{\lambda}(g t, f x)+\omega_{\lambda}(g x, f t)}{2}\right\} \\
& =\left\{\omega_{\lambda}(f t, t), 0, \omega_{\lambda}(f t, t)\right\}
\end{aligned}
$$

So, we have only two possible cases:
Case 4. $\omega_{\lambda}(f t, t)<\omega_{\lambda}(f t, t)$, which is a contradiction.
Case 5. $\omega_{\lambda}(f t, t)<0$, which is a contradiction.
Hence $f t=t=g t$. Therefor, $t$ is a common fixed point of $f$ and $g$.
For the uniqueness of the common fixed point, we suppose that $u$ is another common fixed point in $X_{\omega}$ such that $f u=g u$. From (C3), we have

$$
\omega_{\lambda}(t, u)=\omega_{\lambda}(g t, g u)=\omega_{\lambda}(f t, f u)<\alpha_{2}(t, u)
$$

where $\alpha_{2}(t, u) \in \mathcal{M}_{2}^{f, g}(t, u)$. Therefore, we have

$$
\begin{aligned}
\mathcal{M}_{2}^{f, g}(t, u) & =\left\{\omega_{\lambda}(g t, g u), \frac{\omega_{\lambda}(g t, f t)+\omega_{\lambda}(g u, f u)}{2}, \frac{\omega_{\lambda}(g t, f u)+\omega_{\lambda}(g u, f t)}{2}\right\} \\
& =\left\{\omega_{\lambda}(g t, g u), 0, \omega_{\lambda}(g t, g u)\right\}
\end{aligned}
$$

So, we have only two possible cases.
Case 6. $\omega_{\lambda}(g u, g t)<\omega_{\lambda}(g u, g t)$, which is a contradiction.
Case 7. $\omega_{\lambda}(g u, g t)<0$, which is a contradiction.
Hence $g u=g t$. implies $u=t$ and so $f$ and $g$ have a unique common fixed point.

Theorem 5. Let $X_{\omega}$ be a modular metric space and $f, g: X_{\omega} \rightarrow X_{\omega}$ be weakly compatible mappings such that $f$ is the $g$-quasi-contraction for all $x, y \in X_{\omega}$ and $\lambda>0$. If $f$ and $g$ satisfy $\left(C L R_{g}\right)$-property, then $f$ and $g$ have a unique common fixed point.

Proof. Since $f$ and $g$ satisfy the $\left(C L R_{g}\right)$-property, there exists a sequence $\left\{x_{n}\right\}$ in $X_{\omega}$ such that $\lim _{n \rightarrow \infty} f x_{n}=\lim _{n \longrightarrow \infty} g x_{n}=g x$ for some $x \in X_{\omega}$. Since $f$ is the $g$-quasi-contraction, we have

$$
\omega_{\lambda}\left(f x_{n}, f x\right) \leq a \alpha_{0}\left(x_{n}, x\right)
$$

where $\alpha_{0}\left(x_{n}, x\right) \in \mathcal{M}_{0}^{f, g}\left(x_{n}, x\right)$. Therefore, we have

$$
\mathcal{M}_{0}^{f, g}\left(x_{n}, x\right)=\left\{\omega_{\lambda}\left(g x_{n}, g x\right), \omega_{\lambda}(g x, f x), \omega_{\lambda}\left(g x_{n}, f x_{n}\right), \omega_{\lambda}\left(g x_{n}, f x\right), \omega_{\lambda}\left(g x, f x_{n}\right)\right\}
$$

Now, we have the following five cases:
Case 1. $\omega_{\lambda}\left(f x_{n}, f x\right) \leq a \omega_{\lambda}\left(g x_{n}, g x\right)$. Taking the limit as $n \rightarrow \infty$, we have $g x=f x$.
Case 2. $\omega_{\lambda}\left(f x_{n}, f x\right) \leq a \omega_{\lambda}\left(g x_{n}, f x_{n}\right)$. Taking the limit as $n \rightarrow \infty$, we have $g x=f x$.
Case 3. $\omega_{\lambda}\left(f x_{n}, f x\right) \leq a \omega_{\lambda}(g x, f x)$. Taking the limit as $n \rightarrow \infty$, we have $g x=f x$.
Case 4. $\omega_{\lambda}\left(f x_{n}, f x\right) \leq a \omega_{\lambda}\left(g x, f x_{n}\right)$. Taking the limit as $n \rightarrow \infty$, we have $g x=f x$.
Case 5. $\omega_{\lambda}\left(f x_{n}, f x\right) \leq a \omega_{\lambda}\left(g x, f x_{n}\right)$. Taking the limit as $n \rightarrow \infty$, we have $g x=f x$.
Hence, in all the possible cases, $g x=f x$. Now, let $t=f x=g x$. Since $f$ and $g$ are weakly compatible mappings, it follows that $f g x=g f x$, which implies that $f t=f g x=$ $g f x=g t$.

Now, we claim that $f t=t$. Since $f$ is the $g$-quasi-contraction, we have

$$
\omega_{\lambda}(f t, t)=\omega_{\lambda}(f t, f x) \leq a \alpha_{0}(t, x)
$$

where $\alpha_{0}(t, x) \in \mathcal{M}_{0}^{f, g}(t, x)$. Therefore, we have

$$
\begin{aligned}
\mathcal{M}_{0}^{f, g}(t, x) & =\left\{\omega_{\lambda}(g t, g x), \omega_{\lambda}(g t, f t), \omega_{\lambda}(g x, f x), \omega_{\lambda}(g t, f x), \omega_{\lambda}(g x, f t)\right\} \\
& =\left\{\omega_{\lambda}(f t, t), 0,0, \omega_{\lambda}(f t, t), \omega_{\lambda}(t, f t)\right\}
\end{aligned}
$$

Now, we have two cases.
Case 6. $\omega_{\lambda}(f t, t) \leq a \omega_{\lambda}(f t, t)$. This implies $f t=t$.
Case 7. $\omega_{\lambda}(f t, t) \leq 0$. This implies $f t=t$.
Hence $f t=t=g t$ and so $t$ is a common fixed point of $f$ and $g$.
For the uniqueness of the common fixed point $t$, we suppose that $u$ is another common fixed point in $X_{\omega}$ such that $f u=g u$. Since $f$ is the $g$-quasi-contraction, we have

$$
\omega_{\lambda}(g t, g u)=\omega_{\lambda}(f t, f u) \leq a \alpha_{0}(t, u)
$$

where $\alpha_{0}(t, u) \in \mathcal{M}_{0}^{f, g}(t, u)$. Therefore, we have

$$
\begin{aligned}
\mathcal{M}_{0}^{f, g}(t, u) & =\left\{\omega_{\lambda}(g t, g u), \omega_{\lambda}(g t, f t), \omega_{\lambda}(g u, f u), \omega_{\lambda}(g t, f u), \omega_{\lambda}(g u, f t)\right\} \\
& =\left\{\omega_{\lambda}(f t, f u), 0,0, \omega_{\lambda}(f t, f u), \omega_{\lambda}(f u, f t)\right\}
\end{aligned}
$$

So, we have only two possible cases.
Case 8. $\omega_{\lambda}(f t, f u) \leq a \omega_{\lambda}(f t, f u)$. This implies $f t=f u$.
Case 9. $\omega_{\lambda}(f t, f u) \leq 0$. This implies $f t=f u$.
Therefore, $f$ and $g$ have a unique common fixed point.

Example 4. Let $X_{\omega}=(0,1]$ with $\omega_{\lambda}(x, y)=\frac{1}{\lambda}|x-y|$ for all $\lambda>0$. Consider the functions $f$ and $g$ defined by

$$
\begin{gathered}
f x= \begin{cases}\frac{4}{5}, & \text { if } \\
\frac{1}{4}, & \text { if } \\
g x=\left(0, \frac{4}{5}\right] \\
g x \in\left(\frac{4}{5}, 1\right]\end{cases} \\
\frac{9}{10}, \quad \text { if } \quad x \in\left(\frac{4}{5}, 1\right] .
\end{gathered}
$$

Choosing a sequences $\left\{x_{n}\right\}=\left\{\frac{4}{5}-\frac{1}{n}\right\}$, we can see that $f$ and $g$ enjoy the (CLRg)-property

$$
\lim _{n \rightarrow \infty} f x_{n}=\lim _{n \rightarrow \infty} g x_{n}=\frac{4}{5}=g\left(\frac{4}{5}\right)
$$

Also,

$$
f\left(\frac{4}{5}\right)=g\left(\frac{4}{5}\right) \quad \text { implies } \quad f g\left(\frac{4}{5}\right)=g f\left(\frac{4}{5}\right)
$$

which shows that $f$ and $g$ are weakly compatible.
Case 1. For each $x, y \in\left(0, \frac{4}{5}\right]$, we have

$$
\begin{aligned}
\omega_{\lambda}(f x, f y) & =\frac{1}{\lambda}|f x-f y| \\
& =\frac{1}{\lambda}\left|\frac{4}{5}-\frac{4}{5}\right|
\end{aligned}
$$

and

$$
\begin{aligned}
\mathcal{M}_{0}^{f, g}(x, y)= & \left\{\omega_{\lambda}(g x, g y), \omega_{\lambda}(g x, f x), \omega_{\lambda}(g y, f y), \omega_{\lambda}(g x, f y), \omega_{\lambda}(g y, f x)\right\} \\
= & \left\{\frac{1}{\lambda}|g x-g y|, \frac{1}{\lambda}|g x-f x|, \frac{1}{\lambda}|g y-f y|, \frac{1}{\lambda}|g x-f y|, \frac{1}{\lambda}|g y-f x|\right\} \\
= & \left\{\frac{1}{\lambda}\left|1-\frac{x}{4}-\left(1-\frac{y}{4}\right)\right|, \frac{1}{\lambda}\left|1-\frac{x}{4}-\frac{4}{5}\right|, \frac{1}{\lambda}\left|1-\frac{y}{4}-\frac{4}{5}\right|,\right. \\
& \left.\frac{1}{\lambda}\left|1-\frac{x}{4}-\frac{4}{5}\right|, \frac{1}{\lambda}\left|1-\frac{y}{4}-\frac{4}{5}\right|\right\} .
\end{aligned}
$$

Thus, we obtain $\omega_{\lambda}(f x, f y) \leq a \alpha_{0}(x, y)$, where $a \in(0,1)$.
P. Sumalai, P. Kumam, Y. J. Cho, A. Padcharoen / Eur. J. Pure Appl. Math, 10 (2) (2017), 238-254 250

Case 2. For $x \in\left(0, \frac{4}{5}\right]$ and $y \in\left(\frac{4}{5}, 1\right]$ we have

$$
\begin{aligned}
\omega_{\lambda}(f x, f y) & =\frac{1}{\lambda}|f x-f y| \\
& =\frac{1}{\lambda}\left|\frac{4}{5}-\frac{1}{5}\right|
\end{aligned}
$$

and

$$
\begin{aligned}
\mathcal{M}_{0}^{f, g}(x, y)= & \left\{\omega_{\lambda}(g x, g y), \omega_{\lambda}(g x, f x), \omega_{\lambda}(g y, f y), \omega_{\lambda}(g x, f y), \omega_{\lambda}(g y, f x)\right\} \\
= & \left\{\frac{1}{\lambda}|g x-g y|, \frac{1}{\lambda}|g x-f x|, \frac{1}{\lambda}|g y-f y|, \frac{1}{\lambda}|g x-f y|, \frac{1}{\lambda}|g y-f x|\right\} \\
= & \left\{\frac{1}{\lambda}\left|1-\frac{x}{4}-\frac{9}{10}\right|, \frac{1}{\lambda}\left|1-\frac{x}{4}-\frac{4}{5}\right|, \frac{1}{\lambda}\left|\frac{9}{10}-\frac{1}{5}\right|,\right. \\
& \left.\frac{1}{\lambda}\left|1-\frac{x}{4}-\frac{1}{5}\right|, \frac{1}{\lambda}\left|\frac{9}{10}-\frac{4}{5}\right|\right\} .
\end{aligned}
$$

Thus, we obtain $\omega_{\lambda}(f x, f y) \leq a \alpha_{0}(x, y)$, where $a \in(0,1)$.
Case 3. For $x \in\left(\frac{4}{5}, 1\right]$ and $y \in\left(0, \frac{4}{5}\right]$, we have

$$
\begin{aligned}
\omega_{\lambda}(f x, f y) & =\frac{1}{\lambda}|f x-f y| \\
& =\frac{1}{\lambda}\left|\frac{1}{5}-\frac{4}{5}\right|
\end{aligned}
$$

and

$$
\begin{aligned}
\mathcal{M}_{0}^{f, g}(x, y)= & \left\{\omega_{\lambda}(g x, g y), \omega_{\lambda}(g x, f x), \omega_{\lambda}(g y, f y), \omega_{\lambda}(g x, f y), \omega_{\lambda}(g y, f x)\right\} \\
= & \left\{\frac{1}{\lambda}|g x-g y|, \frac{1}{\lambda}|g x-f x|, \frac{1}{\lambda}|g y-f y|, \frac{1}{\lambda}|g x-f y|, \frac{1}{\lambda}|g y-f x|\right\} \\
= & \left\{\frac{1}{\lambda}\left|\frac{9}{10}-\left(1-\frac{y}{4}\right)\right|, \frac{1}{\lambda}\left|\frac{9}{10}-\frac{1}{5}\right|, \frac{1}{\lambda}\left|1-\frac{y}{4}-\frac{4}{5}\right|,\right. \\
& \left.\frac{1}{\lambda}\left|\frac{9}{10}-\frac{4}{5}\right|, \frac{1}{\lambda}\left|1-\frac{y}{4}-\frac{1}{5}\right|\right\} .
\end{aligned}
$$

Thus, we obtain $\omega_{\lambda}(f x, f y) \leq a \alpha_{0}(x, y)$, where $a \in(0,1)$.
Case 4. For each $x, y \in\left(\frac{4}{5}, 1\right]$, we have

$$
\begin{aligned}
\omega_{\lambda}(f x, f y) & =\frac{1}{\lambda}|f x-f y| \\
& =\frac{1}{\lambda}\left|\frac{1}{5}-\frac{1}{5}\right|
\end{aligned}
$$

and

$$
\begin{aligned}
\mathcal{M}_{0}^{f, g}(x, y)= & \left\{\omega_{\lambda}(g x, g y), \omega_{\lambda}(g x, f x), \omega_{\lambda}(g y, f y), \omega_{\lambda}(g x, f y), \omega_{\lambda}(g y, f x)\right\} \\
= & \left\{\frac{1}{\lambda}|g x-g y|, \frac{1}{\lambda}|g x-f x|, \frac{1}{\lambda}|g y-f y|, \frac{1}{\lambda}|g x-f y|, \frac{1}{\lambda}|g y-f x|\right\} \\
= & \left\{\frac{1}{\lambda}\left|\frac{9}{10}-\frac{1}{5}\right|, \frac{1}{\lambda}\left|\frac{9}{10}-\frac{1}{5}\right|, \frac{1}{\lambda}\left|\frac{9}{10}-\frac{1}{5}\right|,\right. \\
& \left.\frac{1}{\lambda}\left|\frac{9}{10}-\frac{1}{5}\right|, \frac{1}{\lambda}\left|1-\frac{9}{10}-\frac{1}{5}\right|\right\} .
\end{aligned}
$$

Thus, we obtain $\omega_{\lambda}(f x, f y) \leq a \alpha_{0}(x, y)$, where $a \in(0,1)$.
Therefore, $f$ and $g$ satisfy all conditions of Theorem 5 are satisfied and $x=\frac{4}{5}$ is the unique common fixed point of $f$ and $g$.

## 5. Some applications to Fredholm integral equations

The purpose of this section is to show the existence and uniqueness of a solution of Fredholm integral equations in modular metric spaces with a function space $\left(C(I, \mathbb{R}), \omega_{\lambda}\right)$ and a contraction by using our main results.

Consider the integral equation:

$$
\begin{equation*}
f x(t)-\mu \int_{0}^{r} K(t, s) h x(s) d s=g(t) \tag{5}
\end{equation*}
$$

where $x: I \rightarrow \mathbb{R}$ is an unknown function, $g: I \rightarrow \mathbb{R}$ and $h, f: \mathbb{R} \rightarrow \mathbb{R}$ are two functions, $\mu$ is a parameter. The kernel $K$ of the integral equation is defined by $I \times \mathbb{R} \rightarrow \mathbb{R}$, where $I=[0, r]$.

Theorem 6. Let $K, f, g, h$ be continuous. Suppose that $C \in \mathbb{R}$ is such that, for all $t, s \in I$,

$$
|K(t, s)| \leq C
$$

and, for each $x \in\left(C(I, \mathbb{R}), \omega_{\lambda}\right)$, there exists $y \in\left(C(I, \mathbb{R}), \omega_{\lambda}\right)$ such that

$$
(f y)(t)=g(t)+\mu \int_{0}^{r} K(t, s) h x(s) d s
$$

for all $r \in C(I, \mathbb{R})$. If $f$ is injective, there exists $L \in \mathbb{R}$ such that, for all $x, y \in \mathbb{R}$,

$$
|h x-h y| \leq L|f x-f y|
$$

and $\left\{f x: x \in\left(C(I, \mathbb{R}), \omega_{\lambda}\right)\right\}$ is complete, then, for any $\mu \in\left(-\frac{1}{\text { CrL }}, \frac{1}{\text { CrL }}\right)$, there exists $w \in\left(C(I, \mathbb{R}), \omega_{\lambda}\right)$ such that, for any $x_{0} \in\left(C(I, \mathbb{R}), \omega_{\lambda}\right)$,

$$
\begin{equation*}
f w(t)=\lim _{x \rightarrow \infty} f x_{n}(t)=\lim _{x \rightarrow \infty}\left[g(t)+\mu \int_{0}^{r} K(t, s) h x_{n-1}(s) d s\right] \tag{6}
\end{equation*}
$$

and $w$ is the unique solution of the equation (5).

Proof. Let $X_{\omega}=Y_{\omega}=\left(C(I, \mathbb{R}), \omega_{\lambda}\right)$ and define $d(x, y)=\max _{t \in I}|x(t)-y(t)|$ for all $x, y \in X_{\omega}$. Let $T, S \in X_{\omega} \rightarrow X_{\omega}$ be the mappings defined as follows:

$$
(T x)(t)=g(t)+\mu \int_{0}^{r} K(t, s)(h x)(s) d s, \quad S x=f x .
$$

Then, by the assumptions, $S\left(X_{\omega}\right)=\left\{S x: x \in X_{\omega}\right\}$ is complete. Let $x^{*} \in T\left(X_{\omega}\right)$ for any $x \in X_{\omega}$ and $x^{*}(t)=T x(t)$. By the assumptions, there exists $y \in X_{\omega}$ such that $T x(t)=f y(t)$ and hence $T\left(X_{\omega}\right) \subseteq S\left(X_{\omega}\right)$. Since

$$
\begin{aligned}
\omega_{\lambda}(T x, T y) & =|\mu|\left|\int_{0}^{r}[K(t, s)(h x)(s) d s]-\int_{0}^{r}[K(t, s)(h y)(s) d s]\right| \\
& \leq|\mu| \int_{0}^{r} c|(h x)(s)-(h y)(s)| d s \\
& \leq L|\mu| C \int_{0}^{r}|(f x)(s)-(f y)(s)| d s \\
& \leq L|\mu| C \int_{0}^{r}|(S x)(s)-(S y)(s)| d s \\
& \leq\left(\sup _{t \in I}|(S x)(t)-(S y)(t)|\right) L|\mu| C \int_{0}^{r} d s \\
& \leq L|\mu| C r d(S x, S y) .
\end{aligned}
$$

Therefore, for any $\mu \in\left(-\frac{1}{C r L}, \frac{1}{C r L}\right)$, there exists a unique $w \in X_{\omega}$ such that

$$
f w(t)=\lim _{x \rightarrow \infty} S x_{n}(t)=\lim _{x \rightarrow \infty} T x_{n-1}(t)=T(w)(t), \quad x_{0} \in X_{\omega}
$$

for all $t \in I$, which is the unique solution of the equation (5). So, $S$ and $T$ have a coincidence point in $X_{\omega}$. Moreover, if either $T$ or $S$ is injective, then $S$ and $T$ have a unique coincidence point in $X_{\omega}$.

## Acknowledgements

This project was supported by the Theoretical and Computational Science (TaCS) Center under Computational and Applied Science for Smart Innovation Research Cluster (CLASSIC), Faculty of Science, KMUTT.

## References

[1] B.E. Rhoades, Some theorems on weakly contractive maps, Nonlinear Anal. 47 (2001) 2683-2693.
[2] V.V. Chistyakov, Modular metric spaces I: Basic concepts, Nonlinear Anal. 72(2010), 1-14.
[3] C. Mongkolkeha, W. Sintunavarat, P. Kumam, Fixed point theorems for contraction mappings in modular metric spaces, J. Appl. Math. 2012, Art. ID 907951, 5 pp.
[4] W. Sintunavarat, P. Kumam, Common fixed point theorems for a pair of weakly compatible mappings in fuzzy metric spaces, J. Appl. Math. 2011, Art. ID 637958, 14 pp .
[5] H. Aydi, H.K. Nashine, B. Samet, H. Yazidi, Coincidence and common fixed point results in partially ordered cone metric spaces and applications to integral equations. Nonlinear Anal. 74, 6814-6825 (2011).
[6] W. Shatanawi, Z. Mustafa, N. Tahat, Some coincidence point theorems for nonlinear, contraction in ordered metric spaces. Fixed Point Theory and Applications 2011, 68 (2011).
[7] M. Aamri, D. El Moutawakil, Some new common fixed point theorems under strict contractive conditions, J. Math. Anal. Appl. 270(2002), 181-188.
[8] B. Azadifar, G. Sadeghi, R. Saadati, C. Park, Integral type contractions in modular metric spaces, J. Inequal. Appl. 2013, 2013:483.
[9] V. V. Chistyakov, A fixed point theorem for contractions in modular metric spaces, Perprint submited to arxiv (2011).
[10] P. Kumam, Fixed point theorems for nonexpansive mapping in modular spaces, Arch. Math. 40(2004), 345-353.
[11] A. Razani, E. Nabizadeh, M. Beyg Mohamadi, S. Homaeipour, Fixed point of nonlinear and asymptotic contractions in the modular space, Proc. Amer. Math. Soc. 22(2009), 1877-1881.
[12] J. Mosielak, W. Orlicz, On modular spaces, Studia Math. 18(1959), 49-65.
[13] Ph. Turpin, Fubini inequalities and bounded multiplier property in generalized modular spaces, Comment. Math. Tomus specialis in honorem Ladislai Orlicz I, 331-353 (1978).
[14] D. Jain, A. Padcharoen, P. Kumam, D. Gopal, A new approach to study fixed point of multivalued mappings in modular metric spaces and applications, Mathematics 2016, 4(3), 51.
[15] M. Beygmohammadi, A. Razani, Two fixed point theorems for mappings satisfying a general contractive condition of integral type in the modular spaces, Internat. J.Math. Sci. 2010, Art. ID 317107, 10 pp.
[16] T. Dominguez-Benavides, M.A. Khamsi, S. Samadi, Uniformly Lipschitzian mappings in modular function spaces, Nonlinear Anal. 46(2001), 267-278.
[17] Y.J.Cho, R. Saadati, G. Sadeghi, Quasi contraction mappings in modular metric spaces. Journal of Applied Mathematics Volume 2012, Article ID 907951, 5 pages.

